L ”6_ %@?&D

fQ*

Y

= KHT

=KEERXEE
[RKEKE]

—aat

BRRRKR

0.5mkiH

0.5~1.0m*k#H

1.0~2.0m3ki

2.0~3.0m*%H

3.0~5.0m*KjH

50mLl Lt

1:2,500

BlEEICEI(ELEREREAZER) R 2jHs 236




s > = ] =
Z, - N g Lo =
$ i T - =
] m3 i N K B | Kk o 1 o
A = :
% Z . <
b
r~ o wim
=
®




|
- ~-¢ -
|

Y

= KHT

=KEERXEE
[RAFE])

—anit

RKFE

0.00m/s~

1.00m/s~

3.00m/s~

5.00m/s~

9.00m/s~

| Cre—asm) [

oy

12.00m/s~

1:2,500

_._O
LS
3

B ECRI(E L ERERZ(ER) R 2jHs 236




i fil

1:2

7K
3t 7K E|

[:
I

ARHT
HEXEX
e
@
KR E R
500
CEO(E T ERRIKR(ER) R 2iHs 236

!

BEE

SN 7__
f \\c _______ ,_______




